PIPING
COMPONENTS

\__ DESIG

DR




CORPORATE OFFICES AND FACTORY
PO BOX 2097
533 EAST THIRD STREET
BEAUMONT, CA 92223
“QUALITY BY (951)845-3161
DESIGN" FAX (951)845-7644

kY

Al

Dura Plastic Products, Inc. (“Sellers”) warrants to the original Buyer only, that all products shall
be free from defects in design and manufacture for a period of three years from the date of delivery,
provided that such products are installed, used and/or adjusted only in strict accordance with
the appropriate guidelines.

DO NOT USE OR TEST DURA PRODUCTS WITH COMPRESSED AIR OR GAS. DO NOT USE
DURA PRODUCTS WITH COMPRESSED AIR OR GAS SYSTEMS.

MODIFICATION OF FITTINGS VOIDS WARRANTY. In no event shall the foregoing warranty
extend to any products in any way caused or allowed to be, or installed, operated or used in such
a manner as to be, subject or exposed to conditions of misuse, abuse or accident. The sole
obligation of Seller, and the exclusive remedy of Buyer under this warranty, under any other
warranty, expressed or implied, under any rule of law including strict liability, negligence, indemnity,
or otherwise, is the replacement of the defective goods by Seller, or at Seller’s sole election, the
return of the purchase price of the defective goods.

Any products returned by Buyer to Seller under the foregoing terms shall be returned to Seller’s
place of business freight prepaid, accompanied or preceded by Buyer’s particularized statement
of the claimed defect. The risk of loss and freight charges to and from Seller in connection with
any returned products shall be borne by Buyer, but Seller shall bear such additional freight charges
arising in connection with any such returned products ultimately determined by the Seller to be
defective under the terms of the foregoing warranty.

The agreement of Seller to sell its products is expressly conditioned upon the Buyer’s assent to,
and Seller agrees to sell its products upon, all terms and conditions set forth above and on the
face hereof. Buyer’'s acceptance of any products provided under this sale shall constitute such
assent.

THE FOREGOING WARRANTY IS EXCLUSIVE AND IN LIEU OF ANY AND ALL OTHER
WARRANTIES, EXPRESSED OR IMPLIED. NO WARRANTY OF MERCHANTIBILITY, NO IMPLIED
WARRANTY OF FITNESS FOR ANY PARTICULAR PURPOSE, AND NO IMPLIED WARRANTY
ARISING BY USAGE OF TRADE, COURSE OF DEALING OR COURSE OF PERFORMANCE
IS GIVEN BY SELLER OR SHALL ARISE BY OR IN CONNECTION WITH THIS SALE AND/OR
THE SELLER’S AND/OR BUYER’S CONDUCT IN RELATION THERETO OR TO EACH OTHER,
AND IN NO EVENT SHALL SELLER BE LIABLE FOR ANY SPECIAL INDIRECT, INCIDENTAL
OR CONSEQUENTIAL DAMAGES ARISING IN ANY WAY IN CONNECTION WITH ANY
PRODUCTS OF THE SALE.

STANDARD WARRANTY

MINIMUM BILLING: Minimum billing requirement is $50.00 net.

RETURNED MERCHANDISE: No merchandise will be accepted for return without authorization. Merchandise
must be returned freight prepaid and will be subject to a 20% handling charge.

TERMS: Invoices are due and payable thirty (30) days from date of invoice. A two (2) percent prompt payment
discount on net amount of invoice Excluding Freight will be allowed if paid by the 10th. All orders received
after the 25th of the month will be considered as of the 1st of the following month for billing purposes.

FREIGHT: Prepaid on orders for products totaling $1,000.00 net for one shipment to single destination within
the contiguous United States.

Possession of this price list shall not be construed as an offer to sell the products listed.



INDEX

SPECIAL PIPING COMPONENTS

PAGE

e STANDARD WARRANTY
* PRODUCT GROUP 1:
DURA MANIFOLD SYSTEM

* PRODUCT GROUP 2:
3/4" HOSE FITTINGS

* PRODUCT GROUP 3:
COMPRESSION COUPLINGS
COMPRESSION TEES
COMPRESSION MALE ADAPTERS

* PRODUCT GROUP 4:
ANTI-THEFT DEVICES
MICRO SPRAYER ADAPTER
DURA FIX

* PRODUCT GROUP 5:
FLEXIBLE PVC PIPE FITTINGS
PVC FITTINGS FOR POLY TUBE
KICK NIPPLES

* PRODUCT GROUP 6:
CLEAR SCHEDULE 40 FITTINGS

Special Piping

Components

10
10
10

11
12
12

13-14

DURA PLASTIC
PRODUCTS, INC.
P.O.BOX 2097

533 EAST THIRD STREET
BEAUMONT,CA 92223

www.duraplastics.com

2



“QUALITY BY
DESIGN”

1" MANIFOLD SYSTEM

" MULTI-PORT MANIFOLDS

4._; '
1 PART UPC
NUMBER | CODE

-
1 | 301-010 14450  1” Swivel x 1” Mipt x 1” Swivel 021
2 | 301-011* 14452 17" Slip x 1" Mipt x 1” Swivel 021 - 20
3 | 301-010-2 40422 1" Swivel x 1” Mipt x 1” Swivel (x2) 021 - 25
4 | 301-010-3 40423 1" Swivel x 1” Mipt x 1” Swivel (x3) 021 - 25
5 | 301-010-4 40424 1" Swivel x 1” Mipt x 1” Swivel (x4) 021 - 25

11/2" & 2" MANIFOLD SYSTEM

PART UurPC
NUMBER | CODE

6 329-016 13873  11/2” Slip x 1 1/2” Swivel 127
329-021 13874 2" Slip x 2" Swivel 135 - 20
7 332-015 13228 1 1/2” O-Ring Mipt x 1 1/2” Swivel 224 - 20
332-020 13229 2" O-Ring Mipt x 2” Swivel 228 - 20
8 350-015 14306 1 1/2” O-Ring Mipt 224 5 25
350-020 14307 2" O-Ring Mipt 228 5 25
127 - O-Ring for part 329-016 - 25 -
135 - O-Ring for part 329-021 - 25 -
224 - O-Ring for part 329-015 - 25 -
9 | 228 - O-Ring for part 329-020 - 25 -
224 - O-Ring for part 329-015 - 25 -
228 - O-Ring for part 329-020 - 25 -
4 ALL O-RINGS ARE FACTORY INSTALLED. FOR REPLACEMENT O-RINGS REFER TO ABOVE PART NUMBERS.

*Indicates the fitting is nesting.

DURA MANIFOLD SYSTEM

PRODUCT GROUP 1

There will be a $5.00 charge for broken bag or box quantities.
Manifold System Components are O-Ring Sealed. DO NOT USE PASTE, DOPE OR TEFLON TAPE.
For METRIC COMPONENTS, place an "M" in front of the part number.




“QUALITY BY
DESIGN"

1" MANIFOLD SYSTEM

- sl o
(2] P
*301-011 ' ¥

1" MULTI-PORT MANIFOLDS

301-010

301-010-4

Rated 150 PSI w.p. @73°F

11/2” & 2" MANIFOLD SYSTEM

329-016 332-015 350-015
329-021 332-020 350-020 127 THRU 228

INILSAS ATO4dINVIA VaNa

1
A
@)
O
C
(o)
-
@
A
o)
C
1
= Y

NOTE: ALL ABOVE ITEMS ARE GRAY PVC



“QUALITY BY
DESIGN”

(Continued)
n“m-m

: (mipt x swivel x long)

mmmm
BER| CODE

1334-010-14 1x1x14

306-009 14155 1" Mipt x 1” Swivel 021
2 306-010 14158  1” Swivel x 1” Swivel 021 - 25
3 306-011* 14160 1" Slip x 1” Swivel 021 - 25
4 320-010 13921 17 Swivel x 1” Mipt x 1” Swivel x 1” Swivel 021 - 15
5 320-011* 13923 1" Slip x 1” Mipt x 1” Swivel x 1” Swivel 021 - 15
6 329-010 13876 1" Swivel x 1” Swivel 021 - 50
7 329-007* 13234  3/4” Slip x 1” Swivel 021 - 50
8 329-011* 13878 1" Slip x 1” Swivel 021 25 40
9 332-010 13230  1” Swivel x 1” O-Ring Mipt 021 25 50
E 334-010 13231 1” Swivel x 1" Mipt 021 25 50
m 110 335-005 14280 1" Swivel x 1/2” Insert 021 25 50
11 335-007 14281 1” Swivel x 3/4” Insert 021 25 50
P 12 335-010 14282 1" Swivel x 1” Insert 021 25 50
m 13 348-010 13737 1" Fipt 213 25 100
> 14 08303 11879 1" x 1” for Plastic Threads - GRAY 219 25 75
08303M 11882  1” x 1” for Metal Threads - BEIGE 124 25 75
m 15 08303-131 11883 1" x 3/4” for Plastic Threads - GRAY 214 25 75
08303-131M 11884 1" x 3/4” for Metal Threads - BEIGE 120 25 3
n 16 | ALL O-RINGS ARE FACTORY INSTALLED. FOR REPLACEMENT O-RINGS REFER TO ABOVE PART NUMBERS 1‘ 25 -
J *Indicates the fitting is nesting.
“ . 1 (slip x swivel x long)
[ ]
- milmm
< 1329-007-14 3/4 x 1x 14
Q

F
-"
=
(@)
14
o
-
(&
-
a
(@)
14
-F

There will be a $5.00 charge for broken bag or box quantities.
Manifold System Components are O-Ring Sealed. DO NOT USE PASTE, DOPE OR TEFLON TAPE.
For METRIC COMPONENTS, place an "M" in front of the part number.




1" MANIFOLD SYSTEM (Continued)

11/4” T
IPS e

*306-011

114 T
RESNINIS e

320-011*

329-011*

Lo

332-010 334-010

Too— oo— e _

335-005 335-007 335-010
)
c——>o
] Yoy Y ®)
Raag010 08303 08303-131 ‘
021

Rated 150 PSI w.p. @73°F

*Indicates the fitting is nesting.

NOTE: ALL ABOVE ITEMS ARE GRAY PVC

D

“QUALITY BY
DESIGN”

=)
z

-
3
=0
-
gc
20
U-l

(@)
53
e
mwo
S




“QUALITY BY

DESIGN"
3/4”° HOSE FITTINGS
ALL HOSE FITTINGS ARE WHITE PVC
e |
- n“mmm
NUMBER | CODE
500-005 13963  3/4” FHT Swivel x 1/2” Insert 210 200
2 500-007 13964  3/4” FHT Swivel x 3/4” Insert 210 25 200
3| 500-010 13965 3/4” FHT Swivel x 1 Insert 210 25 200
4| 501-007 13966  3/4” MHT x 3/4” MHT x 3/4” FHT Swivel 210 25 200
502-005 13967  3/4” MHT x 1/2” Insert - 25 200
5|  502-007 13968  3/4” MHT x 3/4” Insert - 25 200
502-010 13969  3/4” MHT x 1” Insert - 25 200
503-005 13970  3/4” MHT x 1/2” Mipt - 25 200
503-007 13971  3/4” MHT x 3/4” Mipt - 25 200
6| 503-010 13972  3/4” MHT x 1” Mipt - 25 200
503-012 13973  3/4” MHT x 1 1/4” Mipt - 25 200
503-015 13974  3/4” MHT x 1 1/2” Mipt - 25 200
7 | 508-007 14023  3/4” FHT x 3/4” Fipt - 25 200
g | 510005 13975  3/4” MHT x 1/2’ Slip - 25 200
510-007 13976  3/4” MHT x 3/4” Slip - 25 200
N (/) g 512:007 14013  3/4” MHT x 3/4” Fipt - 25 200
Q 512-101M 13959  3/4” MHT x 1/2” Fipt (Marlex) - 25 200
0. 513-005 13977  3/4” FHT Swivel x 1/2” Mipt 210 25 200
4 10| 513-007 13978  3/4” FHT Swivel x 3/4” MHT 210 25 200
) = 513-008 13979  3/4” FHT Swivel x 3/4” Mipt 210 25 200
o = 513-010 13980  3/4” FHT Swivel x 1” Mipt 210 25 200
- 11|  530-005 13981  3/4” FHT Swivel x 1/2” Fipt 210 25 200
o’ - 12| 530-007 13983  3/4” FHT Swivel x 3/4” FHT 210 25 200
13| 530-008 13982  3/4” FHT Swivel x 3/4” Fipt 210 25 200
(D e 14| 533-005 13999  3/4” MHT x 1/2” Spigot - 25 200
533-007 13984  3/4” MHT x 3/4” Spigot - 25 200
- Ll 15| 534-005 13985  3/4” FHT Swivel x 1/2” Mipt 210 25 200
&) (7)) 16| 534-007 13986  3/4” FHT Swivel x 3/4” Mipt 210 25 200
17| 535-003* 13987  3/4” FHT Swivel x 3/8” IPS (Slip) 210 25 200
- O 18| 535-005* 13988  3/4” FHT Swivel x 1/2” IPS (Slip) 210 25 200
0 T 49| 535-006° 13997  3/4” FHT Swivel x 5/8" Irr. Hose/ 34 IPS (Spg) 210 25 200
535-007* 13989  3/4” FHT Swivel x 3/4” IPS (Slip) 210 25 200
o n 536-005 13990  3/4” MHT x 1/2” Slip - 25 200
Y < 00| 536-007* 13991  3/4” MHT x 3/4” Slip - 25 200
e 536-010* 13992  3/4” MHT x 1” Slip - 25 125
[« IS 536-012 13993  3/4” MHT x 1 1/4” Slip - 25 125
21| 548-007 13994  3/4’ FHT 210 25 200
22 210 - O-Ring - 25 -
ﬁ ALL O-RINGS ARE FACTORY INSTALLED. FOR REPLACEMENT O-RINGS REFER TO ABOVE PART NUMBERS

*Indicates the fitting is nesting.




3/4” HOSE FITTINGS “QUALITY BY

DESIGN"
0 @

500-005 500-007 500-010
3/4” FHT Swivel x 1/2” Insert 3/4” FHT Swivel x 3/4” Insert 3/4” FHT Swivel x 1” Insert e

501-007
3/4” MHT x 3/4” MHT x 3/4” FHT Swivel

o
502-Series 3/4” IPS 3
3/4” MHT x Insert P ————3
b3
] 510-Series 512-Series
503-Series 3/4” MHT x Slip 3/4” MHT x Fipt

3/4” MHT x Mipt

, 530-005 530-007 530-008
513-Series » i " Fi 3/4” FHT Swivel x 3/4” FHT . - "
314" EHT Swivel x MHT & Mipt 3/4" FHT Swivel x 1/2" Fipt wivel x 3/4” FHT Swivel x 3/4” Fipt

i

533-Series
3/4” MHT x Spigot

3/8” IPS » ”
112" Irrig. Hose | 3/4” IPS 3/4" 1PS 17 IPS
*535-003 535 +535.007
3/4" FHT Swivel x 3/8" IPS (Slip) 3/4” FHT Swivel x 1/2" IPS (Slip) 314" FHT Swivel x 314" IPS (Slip)

(&%)
53
-1
Oc
?ea
e
=10

=
1
ON

T 0
3471Ps | 171PS Q
! !
*536-Series B 548-007 Oz—lli(r?g
3/4” MHT x Slip 312" FHT Cap

All O-Rings are factory installed. *Indicates the fitting is nesting.




COMPRESSION COUPLINGS, TEES,

"QUALITY BY
et AND MALE ADAPTERS

- = f %E COMPRESSION TEE
- gl E = COMPRESSION COUPLING g (Threaded)
Gigen| cS0e | sze | &t | sot JGiSkel oS | SEE | BAG | B0
- NUMBER| CODE BER CODE

SC29-005 40400 1/2 160 TC01-005 40450 1/2 144
SC29-007 40402  3/4 = 120 TC01-007 40452 3/4 = 104
SC29-010 40404 1 - 120 TC01-010 40454 1 - 96
SC29-012 40406 11/4 - 40 TC01-012 40456 11/4 = 64
SC29-015 40408 11/2 - 54 TC01-015 40458 1172 - 54
SC29-020 40410 2 - 36 TC01-020 40460 2 - 28
SC29-025 40412  21/2 - 10
SC29-030 40414 3 - 4

SC29-040 40416 4 - 2
SC29-060 40418 6 = 6 % COMPKE‘S\?'!I_%!; MALE
PART
= COMPRESSION TEE NUMBER CODE

) (Slip) SC36-005 40474 1/2 360

: SC36-007 40476 3/4 = 240
NUMBER| CODE SC36-015 40482 1172 = 144
SC01-005 40426 112 144 | [SC36-020 40484 2 - 96

SC01-007 40428  3/4 = 104
SC01-010 40430 1 - 96 ‘

SC01-012 40432 11/4 - 64 COMPRESSION GASKETS

SC01-015 40434 11/2 - 54 =

CG- 005 40400 1/2

CG-007 40402 3/4 - -
CG-010 40404 1 - -
CG-012 40406 11/4 - -
CG-015 40408 11/2 - -
CG-020 40410 2 - -
CG-025 40412 21/2 - -
CG-030 40414 3 - -
CG-040 40416 4 - -
CG-060 40418 6 - -

PRODUCT GROUP 3
COMPRESSION FITTINGS



ANTI-THEFT DEVICES (ATD) “QUALITY BY
DESIGN"

* SAVES MONEY
e EASY TO INSTALL

* DURABLE & RELIABLE

RT UPC
m CODE SIZE & DESCRIPTION m-

‘X14-viNna ‘Idinaa .L:lElH.l.-l.i.Nv.-

€ dNOAUO LONAO0d

¥

ATDA4-005 13292 1/2” Fipt x 1/2” Mipt 250
ATD4-007 13293 3/4” Fipt x 3/4” Mipt 25 200
ATD8-010 13294 1” Fipt x 1” Mipt 10 50
ATD8-012 13295 1 1/4” Fipt x 1 1/4” Mipt - 25
ATD8-015 13296 11/2” Fipt x 1 1/2” Mipt - 25

DURA-FIX
QUICK REPAIR TELESCOPING COUPLING
m . v T

e EASY TO INSTALL

[ | | e DURABLE & RELIABLE
DF-005 13739 1/2” Slip x 1/2” Spigot

DF-007 13740 3/4” Slip x 3/4” Spigot - 25
DF-010 13741 1” Slip x 1” Spigot - 25
DF-012 13742 1 1/4” Slip x 1 1/4” Spigot - 15
DF-015 13743 11/2” Slip x 1 1/2” Spigot - 15
DF-020 13744 2’ Slip x 2” Spigot - 10

MICRO SPRAYER ADAPTER

L

N

e EASY TO INSTALL

=
(2)
~
o
L)
:
<
>
O
>
1
-
m
~

* DURABLE & RELIABLE

4 777777,

RT UPC
m CODE SIZE & DESCRIPTION m-

[ *235-047 26000 5/16-32 Fipt x 1/2” Slip




“QUALITY BY
DESIGN”

FLEXIBLE PVC PIPE FITTINGS

(1?' 90° STREET ELL 90° STREET ELL
‘Q EXTRA DEEP SOCKET EXTRA DEEP SOCKET
' (Spg x Slip) (Mipt x Slip)
QO GLUE ON GLUE ON
DuBke oo sz ____| 200 | o0t RfhSke cfie v | o:G | S0
NUMBER| CODE BER| CODE
209-005-4 10410 1/2 200 210-005-4 10430 1/2 200
209-007-4 10411 3/4 10 200 210-007-4 10431  3/4 10 200
209-010-4 10412 1 10 50 210-010-4 10432 1 10 50
°209-073-4 10413  1/2x3/8 5 200 *210-073-4 10433  1/2x3/8 10 200
209-074-4 10414  1/2x 3/4 5 200 210-074-4 10434  1/2x 3/4 10 200
°209-099-4 10415  3/4x3/8 5 200 *210-099-4 10435 3/4x 3/8 10 200
209-101-4 10416  3/4x1/2 5 200 210-101-4 10436  3/4x1/2 10 50
m 209-102-4 10417  3/4x1 5 50 210-102-4 10437  3/4x1 10 200
°209-129-4 10418 1x3/8 5 200 °210-129-4 10438 1x3/8 10 200
G 209-130-4 10419  1x1/2 5 100 210-130-4 10439 1x1/2 10 100
z 209-131-4 10420 1x3/4 5 100 210-131-4 10440 1x3/4 10 100
r— *FITS: AG PRODUCTS 1/2” OD IRRIGATION HOSE *FITS: AG PRODUCTS 1/2” OD IRRIGATION HOSE
m |
o, 1
m TRANSITION REDUCING TRANSITION
: 90° STREET ELL 90° STREET ELL
o A (Mipt x Twist) (Mipt x Twist)
L Twist-on Pressure Compensating Designed for twist-in insertion
m m Positive pressure sealing
i mmm mmmm
M () NUMBER| CODE BER| CODE
> *212-005-1 14244  1/2 200 | [+212-073-4 14410 1/2x3/8 200
*212-007-1 14245  3/4 10 200 *212-099-4 14411 3/4x3/8 10 200
P m *212-010-1 14246 1 10 50 °212-129-4 10418  1x3/8 10 200
o m *FITS: ROBERTS 025-581000 .580 x .690 POLY OR EQUIVALENT FITS: AG PRODUCTS 1/2” OD IRRIGATION HOSE
(=
o x TRANSITION COUPLING
m L (Slip x Twist)
- | (IPS x 3/8”" Flex Tube)
Designed for twist-in insertion
m m Positive pressure sealing

ONBE mmm
NUMBER| CODE
*231-073-4 14428  1/2x 3/8 200
PRODUCTS 1/2” OD IRRIGATION HOSE




“QUALITY BY

DESIGN"
PVC FITTINGS FOR POLY TUBE

TRANSITION COUPLING

(Slip x Twist)
(IPS x Poly)
Twist-on

Pressure Compensating

mﬁ-mm
BER| CODE

‘ *231-005-1 14425  1/2

*FITS: ROBERTS 025-581000 .580 x .690 POLY OR EQUIVALENT
*INDICATES FITTING IS NESTING

PRE-ASSEMBLED
“FLEXIBLE KICK NIPPLE”

% PRE-ASSEMBLED
> “FLEXIBLE KICK NIPPLE”

1/2” mipt x mipt

WiEel e LSz ¥ |20
BER| CODE

4003-4 23277 4 200

4003-6 23279 6" 25 200

4003-8 23281 & - BULK
4003-10 23283 10" = BULK
4003-12 23285 127 - BULK
4003-18 23289 18" = BULK
4003-24 23291  24° - BULK
4003-36 23293 36" = BULK
4003-48 23295 48" - BULK

1
<
0
il
-
=
4
9]
»
m
(@)
A
1
o
<
-]
c
2]
m

S dNOYAUO 109NAod

Mipt: Male Iron Pipe Thread
Fipt: Female Iron Pipe Thread

Spg: Spigot




“QUALITY BY
DESIGN”

CLEAR SCHEDULE 40 FITTINGS

Transparent (blue tint) PVC provides visual control in a wide variety of applications - ideal in food and pharmaceutical plants, laboratories, hospitals, and chemical installations. Not recommended for use in

compressed air or gas systems.

Electrically nonconductive, corrosion-resistant pipe has smooth interior walls to permit high flowratesand help prevent accumulation of sediment. Nontoxic pipe meets FDA requirements and can be cold
sterilized in ethylene oxide. Flame retardant pipe has UL rating of 94 VO.

TEE

(slip x slip x slip)

90° ELL
(slip x fipt)

PART

UPC
wfiie| G | v ____| 946 | 20

WOiER| e L sue____| o | w0t
R| CODE

C401-005 29598  1/2 150
*C401-007 29599  3/4 1 0 100
*C401-010 29600 1 10 50

C401-015 29601 1172 - 25

C401-020 29602 2 - 15

C401-030 29666 3 - 5

C401-040 29667 4 - 3

C401-060 29595 6 - 1

TEE

(slip x slip x fipt)

C407-005 29615  1/2 250
*C407-007 29616  3/4 10 150
*C407-010 29617 1 10 50

C407-015 29618 11/2 & 25

C407-020 29619 2 5 25

45° ELL
(slip x slip)

M I CO
R| CODE

C417-005 29623 112 250
NUMBER| CODE C417-010 29620 1 10 50
C402-005 29603  1/2 150 C417-015 29621 1112 10 50
*C402-007 29604  3/4 10 100 C417-020 29622 2 5 20
*C402-010 29605 1 10 50 C417-030 29661 3 ; 8
C402-015 29606  11/2 - 25 C417-040 29662 4 - 3
C402-020 29607 2 - 20 C417-060 29571 6 . 2
90° ELL COUPLING
(slip x slip) (slip x slip)

PART

PRODUCT GROUP 6 - Clear Sch 40

UPC
WGBER| S5 | S22 ____| 910 | B0

RT [ UPC
wilbes] GO0 | S7E_____| #40 | 20

C406-005 29608  1/2 250
C406-007 29609  3/4 1 0 150
C406-010 29610 1 10 50
C406-012 29613  11/4 & 50
C406-015 29611 1172 - 50
C406-020 29612 2 5 20
C406-030 29596 3 - 8
C406-040 29614 4 - s
C406-060 29663 6 - 1

C429-005 29668
*C429-007 29624
*C429-010 29625

C429-012 29626

C429-015 29627

C429-020 29628

C429-030 29664

C429-040 29665

C429-060 29590

112
3/4

1
11/4
11/2

2
3
4
6

10
10

250
250
100
50
50
25
10
6
4




CLEAR SCHEDULE 40 FITTINGS

“QUALITY BY
DESIGN"

FEMALE
ADAPTER

(slip x fipt)

REDUCER
BUSHING

(spg x fipt)

RT | UPC
wiSEs] CO% | SzE____| #ho | S0

C435-005 29629  1/2 250
*C435-007 29630  3/4 10 250
*C435-010 29631 1 10 100

C435-015 29632 11/2 5 50

C435-020 29633 2 - 25

C435-030 29654 3 - 10

C435-040 29655 4 - 5

MALE
ADAPTER
(mipt x slip)

e e | v #0 | 20
R| CODE

C436-005 29634  1/2 250
C436-007 29635 3/4 10 250
*C436-010 29636 1 10 100
C436-012 29637 11/4 = 50
C436-015 29638 11/2 50

C436-020 29639 2 - 25
C436-030 29656 3 - 16
C436-040 29657 4 - 12

REDUCER

BUSHING

(spg x slip)

mmmm
R[ CODE

C437-101 29640 3/4 x1/2 250
C437-130 29641 1x1/2 10 250
C437-131 29642 1x 3/4 10 250
C437-166 29643 11/4x1/2 5 150
C437-167 29644 11/4 x 3/4 5 150
C437-168 29645 11/4 x1 5 150
C437-212 29646 112x11/4 10 100
C437-251 29647 2x11/2 5 50

RT_| UPC

WUMBER| CODE | SZE | B | B

| C438-212 29648  11/2x11/4
CAP
(slip)

WUhBER| CODE | 28

NUMBER| CODE

C447-005 29649  1/2

C447-007 29650  3/4

C447-010 29651 1

C447-015 29652 1172

C447-020 29653 2

C447-030 29658 3

C447-040 29659 4

C447-060 29660 6

FDA APPROVED

NOTE:
For price & availability of Clear fitting sizes not
shown, contact Dura Sales Department:
(951)845-3161 FAX (951)845-9391

SOME LINE ITEMS ON THIS PAGE MAY NOT
BE GUSSETTED.

O YOS 1€9[) - 9 dNOAUD LONAOUd

*INDICATES FITTING IS NESTING

mipt:  Male Iron Pipe Thread
fipt: Female Iron Pipe Thread
spg:  Spigot




DURA WAREHOUSES
@

(2 PERRY, GA @ FRACKVILLE, PA © SALT LAKE CITY, UT

(3 BURLINGTON, IA (B CARROLLTON, TX (@ PASCO, WA

CELINA,TN

7

o\

)
WY

LT

o

f;i"“‘ P
q

DURA PLASTIC
NATIONAL ORDER DESK PRODUCTS, INC.
1-(800)854-2323
CALIFORNIA ORDER DESK P.0.BOX 2097

1-(800)472-8564 BEAUMONT, CA 92223





